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Directions

PART—I / ENGLISH

Answer the following

questions (Q. Nos. 1 to 30) by selecting
the correct option.

/5

1.

The poem, Gitanjali No. 50 is an
allegory, because

(A) the poem is religious in nature

(B) the poem has a deep spiritual
significance

(C) it is a mystical poem

(D) under its surface
we can  discover
meaning

meaning
another

The beggar finally realized that

(A) complete surrender of self is
essential for union with the God

(B) he had missed the golden

opportunity of becoming rich

he was too fool to think that
the God was joking

(C)

(D) the God is essentially cruel

What used to be the happiest
half hour of the day for the
author’s grandmother in the story,
The Portrait of a Lady ?

(A)

(B)
(©)

Going to the temple
Waiting for her son
Waiting for her grandson

(D) When she used to feed the

Sparrows

4.

It was a lovely scene, only in one
corner it was still

(A) cloudy

(B) summer

(C) spring

(D) winter

What did the author win in the

lottery of Gaiety Land in the story,
Engine Trouble?

(A) Sewing machine
(B) Camera
(C) Road éngine

(D) None of the above

“Ten thousand saw I at a glance”
The figures of speech that we find
in the above line are

(A) hyperbaton and hyperbole

(B) metaphor and hyperbole

(C) personification and irony

(D) None of the above




7. “One by one the casements catch”

10.
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Here, ‘casements’ means
(A) prison cells

(B) windows

(C) cages

(D) closed boxes

Robert Frost is

(A) an English poet
(B) an American poet
(C) an Irish poet

(D) a Scottish poet

“But ring the fuller minstrel in.”

Here, ‘minstrel’ means
(A) saint
(B) bard
(C) priest

(D) clergy

In Sonnet to the Pupils of the
Hindu College, Derozio compares the
awakening of the young minds
towards the vast world of knowledge
with

(A) the rising of the sun
(B) the flow of the river
(C) blossoming of buds into flowers

(D) a tree in bloom

11. The beggar in Gitanjali No. 50 took

12.

13.

14,

out the least little grain of corn
from his

(A) briefcase
(B) folding bag
(C) wallet

(D) pocket

The ‘north wind’ was wrapped in
(A) a white cloak

(B) a grey cloak

(C) furs

(D) a snow-white jacket

“He gives his harness bells a shake
To ask if there is some mistake.”

Who gives 'his
shake™?

harness bells a

(A) The driver
(B) The donkey
(C) The pilot
(D) The horse

A. P. J. Abdul Kalam categorizes the
stages of a nation’s progress as

(A) warrior stage, athlete stage,
spirit stage and statesman stage

(B) athlete stage, warrior stage,
statesperson stage and spirit

stage

(C) athlete stage, warrior stage,
big brother stage and self-
realization stage

(D) None of the above

[ P.T.O.




15.

16.

17.

18.

The two spin-offs of missile
technologies that gave happiness
to Kalam are

(A) KR and ICBM

(B) ICBM and FRO

(C) FRO and KR

(D) KR and IMMZOZO

The singing birds in Stupidity Street
represent

(A) the items of goods in a shop
(B) the singers

(C) the natural resources

(D) the murmuring crowd in
a market

Loveliest of Trees communicates the
attitude of

(A) making the most of present
opportunities

(B) brooding over
prospects of life

the future

(C) pinning for the lost glory

(D) None of the above

“He is too selfish”

This was uttered by
(A) the spring

(B) the summer

(C) the autumn

(D) the children

19. A business letter for the purpose of

20.

21.

collection of dues should be
(A) direct and hard in tone
(B) very polite and apologetic
(C) polite and persuasive

(D) None of the above

Goodwill letters in business may
include

(A) only congratulatory letters on
someone’s success

(B) only condolence letters to the
bereaved family of an employee
or a partner

(C) both congratulatory and

condolence letters

(D) None of the above

We seldom had any time to
ourselves.

The above sentence is

(A) a negative statement

(B) an affirmative statement

(C) an exclamatory statement

(D) None of the above



23.

24,

22. Being desirous

success, he did
everything in his power to attain it.

Fill in the blank with appropriate
preposition.

(A) .on
(B) in
(C) of

(D) upon

By choosing the appropriate word,
fill in the blank of the following
sentence :

The effectiveness of teaching and
learning on several factors.

(A) depend
(B) is depend
(C) are depend

(D) depends

Fill in the blank of the sentence
given below with appropriate verb :

In the kitchen, there
and two chairs.

a table

(A) were
(B) been
(C) was

(D) None of the above

25.

26.

27.

The man was shaken but unhurt.

The above sentence is

(A) a simple sentence

(B) a complex sentence
(C) a compound sentence

(D) None of the above

I was sorry when I found out my
mistake.

The above sentence contains

(A) one principal clause and an
adjective clause

(B)

one principal clause and an
adverbial clause

(C) two principal clauses

(D) one principal clause and a noun

clause

I wish 1 have enough rich to buy
a entire island.

The above sentence has

(A) two errors

(B) three errors

(C) one error

(D) no error at all



28.

29.

30.
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The driver who
accident

(die) in the
(work) here.

The appropriate forms of the verbs
in the blank spaces above will be

(A) died, works
(B) died, was working
(C) had died, was working

(D) died, had been working

The girl said, “Oh, had I wings of
a dove!”

The above sentence in indirect
speech will be

(A) The girl exclaimed that she had

the wings of a dove.

(B) The girl wished that she could

have the wings of a dove.

(C) The girl wished that she will

have the wings of a dove.

(D) None of the above

She takes
ornaments.
Fill in the blank with appropriate
preposition.

pride her

(A) at
(B) in
(C) on

(D) for

Directions : Read the passage given
below and answer the questions (Q. Nos.
31 to 35) by choosing the correct option.
Knowledge has always been the prime
mover of prosperity and power. The
acquisition of knowledge has therefore
been the thrust area throughout the world.
Additionally, in India, there has been
a culture of sharing it, not only through
the tradition of guru-shishya but also by
its spread to mneighbouring countries
through travellers who came to Nalanda
and other universities drawn by their
reputation as centres of learning. India is
endowed with natural and competitive
advantages as also certain distinctive
competencies. But these are scattered in
isolated pockets and the awareness of
these is inadequate. During the last
century, the world has changed from being
an agricultural society, in which manual
labour was the critical factor, to an
industrial society where the management
of technology, capital and labour provide
the competitive advantage. In the twenty-
first century, a new society is emerging
where knowledge is the primary production
resource instead of capital and labour.
Efficient utilization of this
knowledge base can create wealth for us in

the form of better health, education and

existing

other indicators of progress. The ability
to create and maintain the knowledge
infrastructure, to enhance skills and
productivity  through  the

exploitation of advances in various fields

increase




will be the key factors in deciding the
prosperity of this society. Whether a nation

qualifies as a knowledge society is judged
by how effectively it deals with knowledge
creation and knowledge deployment.

31.

32.

In this passage, the word that
means force or impulse that pushes
forward’ is

(A) resource

(B) advance

(C) progress

(D) thrust

According to the author of this

passage, India has

(A) inadequate natural and

competitive advantages

(B) adequate natural and competitive
advantages without any
competencies

(C) adequate awareness of its own
resources

(D) None of the above

33.

34.

35. According to

The twentieth century world
witnessed a change from being

(A) an industrial to a technological
society

(B) an industrial to an agricultural
society

(C) an agricultural to an industrial
society

(D) an industrial to a knowledge
society

The author thinks that the progress
and prosperity of a twenty-first
century nation will depend

(A) solely on management of labour
and capital

(B) solely on management of
technological advances

(C) solely on increase of

productivity

(D) None of the above

the author, the
characteristics of a knowledge

society will be that

(A) it will exploit the advances of
technology and of other fields

(B) it will take effective initiative to
enhance skills

(C) it will efficiently utilize
existing knowledge, create new
knowledge and manage its
operation

(D) All of the above

[ P.T.O.




36.

37.

38.

39.
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PART—III / Si9—III
HISTORY / g™

Directions : Answer the following
questions by selecting the correct option.

71,

72.

73.
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How many types of archaeological
source are there in the early Indian
history?

(A) 2
B) 3
C) 4

(D) None of the above

How many Puranas are there as
the source of the early Indian
history?

(A) 9
(B) 11
(C) 18

(D) None of the above

Coins are the most important source
to know the history of

(A) Bactrians
(B) Mauryas
(C) Satavahanas

(D) None of the above, -

12

it : A Tex fdma 3@ Mesa emahr
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74.

75.

76.

Which of the following is not the
name of Gautama Buddha?

(A) Tathagata

(B) Shakyamuni

(C) Suddhodan

(D) None of the above

One of the causes of the religious
protest movements of the Sixth
Century BC was the

(A) complexity of Vedic

Brahmanical religion

(B) of Vedic

nonviolence policy
Brahmanical religion

(C) Battle of Ten Kings

(D) None of the above

The clear division of Buddhism into
Hinayana and Mahayana took place
in the

(A) Second Buddhist Council

(B) Third Buddhist Council

(C) Fourth Buddhist Council

(D) None of the above

13

74.

75.

76.

v (@ NN Jead 7 7 2
(A) SIS

(B) oA |

(C) sTai

(D) ®eicaa @R T
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7.

78.

80.
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Mahavira’s early name was
(A) Vardhamana

(B) Devabrata

(C) Siddhartha

(D) None of the above

How many Mahajanapadas were
there in the Sixth Century BC?

(A) 12
(B) 16
(©) 18

(D) None of the above

Who followed the policy of
matrimonial alliance for the rise
of Magadha?

(A) Bimbisara

(B) Ajatasatru

(C) Mahapadma Nanda

(D) None of them

Which of the following region was
not a part of Asoka’s empire?

(A) Kashmir
(B) Taxila
(C) Kapilavastu

(D) None of the above

77.

78.

79.

80.

TRRicza wifit A fez
(A) 34T+

(B) (&S

(C) Prad

(D) Toieza IR T8

oo W wreordtice Uil wRrEmem fée 2
a) 12f6
(B) 16fd
(C) 18

(D) Tz IR W

@ TR SUeR w0 SRS FhfEeR
AS wwepRa Feafeeem 2

(a) Rfpm
(B) SrEmo*Er
(C) TR

(D) 7R FTE 7
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fea 12
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(B) ©FH=
(©) 3Prrz
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81. Asoka is remembered, because 81. W*ﬂ'ﬂiﬂﬂ, FRg

(A) he was a great conqueror (A) T ferem =2 facere
(B) he attempted to abolish war and B) & T *fzR Face @3 s
establish universal peace AT 758 g
(C) he patronized Buddhism ©) R A=l B AR
(D) None of the above (D) BoicRa @R W
2. s of e g ol 2|43 g ot o e e
art? TR ?
(A) Vaikuntha Perumal Temple (A) (3FF CIFTe T
(B) Kailashnath Temple (B) tFPWIY IR
(C) Mukunda Temple (C) TF% =
(D) None of the above (D) ToER @i T

83. Which Chinese traveller studied in

83. ool i e RweEa
the Nalanda University for about b i

five years? I TR S T 2
(A) Fa-Hien (&) ¥-Rom

(B) Hiuen Tsang (B) Rz i

(C) I-tsing () TP

(D) None of them (D) €T FTB T




84. Who founded the Vikramashila | 84. @ R&wWen Rufmem afes a2

University?
(A) Gopala o M g
(B) Devapala (B) Craefe
(C) Dharmapala (C) 4o
(D) None of them (D) TR TR W

85. The Golden Age of Sanskrit 85. ﬁm’?‘fi""ﬁ?

Literature was

(A) T o
(A) Maurya Age
(B) 2% 34
(B) Gupta Age
C SR
(C) Kushan Age € BT
(D) T @ T

(D) None of the above

86. Which of the following is the 86. oA (PN SRCSA PRICW e

Sultanate period in Indian history? 7

(A) 1206 AD-1526 AD (A) 1206 EP-1526 DR
(B) 1209 AD-1530 AD (B) 1209 3%=-1530 fa%br
(C) 1210 AD-1535 AD (C) 1210 fo-1535 o
(D) None of the above (D) Totam (FRbR

87. When did Chinghiz Khan invade 87. T C5FFG U SIS TR IFCARLA 2

India?

(A) 1220 AD (A) 1220 %™
(B) 1221 AD (B) 1221 fa%br
- (C) 1222 AD (C) 1222 %™

(D) None of the above (D) T°taa (PFibE T
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88. The First Woman Ruler of India was 88. TRCEA AN TBA WP ’ew

(A) Hamida Banu (A) 'Q]ﬁ“qm:i
(B) Chand Bibi B) THRR
(C) Razia (©)

(D) None of them (D, o R

89. Who followed the ‘policy of blood
and iron’ among the Sultans of | 89. W&ER MR WY & T ¢ @2 A’

Delhi? PR PR ?
(A) Iltutmish (A) TErpefs
(B) Razia ®)
(C) Balban
(C) A

(D) None of them .
(D) €T T2 T

90. How many styles of architecture
were there during the Sultanate 90. {?ﬁﬁl oot T FIore A e 2

| period?
| (a) 2f
| (A) 2
B) 3 (B) 3f
©) 4 (C) 4f%
I| (D) None of the above (D) ToT PR 7

91. The aim of Bhakti Movement was to 91. fe SCwEER Sowe fBe
(A) revive Hinduism ) et Wﬂ =
(B) spread the teachings of Islam B) S B —_—
(C) create harmony between Hindus
and Muslims (©) fog-ifer 3@l aifsdn ==

(D) None of the above (D) ToiEm (@R




92. When and between whom did the | 92. 3 ¢R IR W BPTR Ta A=A ?
Battle of Chausa take place?

(A) 1539 BP0, =WRA @ (RS
(A) In 1539 AD, between Humayun Y
and Sher Shah

(B) 1541 R0, CRPIZ @ IRTA *MC=A

(B) In 1541 AD, between Sher Shah !

and Bahadur Shah

(C) 1542 PO, TARH @ (MeTS ATTA

(C) In 1542 AD, between Humayun —

and Daulat Khan

(D) None of the above (D) Toicaa FMioE |

93. Sher Shah’s empire was divided into | = 93- CRR e Rew &

(A) 40 Sarkars () 40fb 2T

(B) 42 Sarkars (B) 42fb v

(C) 47 Sarkars (C) 471 v

(D) None of the above (D) TR @b T
94, The Parrot of India was 94. TR (oo fRgEw

(A) Abul Fazl (A) W T

(B) Amir Khusrau (B) =R P

(C) Birbal (©) =

(D) None of them (D) o T T

95. In memory of Gujarat Conquest,

which Mughal emperor built the 95. WL WW RS @R I =%

M s e o v el FeafRee 2
(A) Babur (4) =]

(B) Akbar (B) SIS

(C) Humayun (C) ==’

(D) None of them (D) TR TR
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92.

93.

94,

95.
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When and between whom did the
Battle of Chausa take place?

(A) In 1539 AD, between Humayun
and Sher Shah

(B) In 1541 AD, between Sher Shah
and Bahadur Shah

(C) In 1542 AD, between Humayun
and Daulat Khan

(D) None of the above

Sher Shah’s empire was divided into
(A) 40 Sarkars
(B) 42 Sarkars
(C) 47 Sarkars

(D) None of the above

The Parrot of India was
(A) Abul Fazl

(B) Amir Khusrau

(C) Birbal

(D) None of them

In memory of Gujarat Conquest,
which Mughal emperor built the
Buland Darwaza?

(A) Babur

(B) Akbar

(C) Humayun

(D) None of them

92.

93.

94.

95.

FR GR IR WY (PR o 2CARe 2

(A) 1539 fP0ics, TWRA 8 R
T

(B) 1541 %1z, crrz @ A=A *MC=A
Yl

(C) 1542 PO, TARH 8 (AT AT
b

(D) Sz @R T

CRMICRR ST Rew fe
(A) 40 2T
(B) 42f5 ewmee
(C) 471 e

(D) Socm @R T

SCes oo ke
(A) SR FE=

(B) W P

(€) ==

(D) TR (I 7

FWO TR YRS @ [/ o
P e e FeafeeEn 2

(A) IRA
(B) S

(C) =RA
(D) TR T3 7




96. The designer of Taj Mahal was 96. TIHIZCAN TR ferem

(A) Ustad Mansur (A) TBM TR
(B) Ustad Isha (B) Tmm 21
(C) Ustad Rahim (©) Tmm
(D) None of them (D) T7A (FTR T
97. Where did Sufism originate? 97. TR Teoife wrafee cmam 2
(A) India (A) srEeay
(B) China (B) BA
(C) Persia ‘(C) T
(D) None of the above (D) Toraa IR T

98. Who translated Bhagavat Purana in | 98. ‘SISRSRAIT ARG SHE SRm I

Persian? @?
(A) Todar Mall (A) COrezTa
(B) Birbal ; | (B) q53=1
(C) Badauni (C) ImeTH
(D) None of them (D) 4T (FTE W
99. The Black Hole incident was 99. g ¥l fom
(A) a preplanned conspiracy () 93 FeiReEe Toug
(B) an accidental episode (B) «=fb e
(C) a natural calamity (C) «3fb arpfess rfiat
(D) None of the above (D) o eive T
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100. When did the Battle of Buxar take

101.

102.

/5

place?

(A) 1762 AD

(B) 1763 AD

(C) 1764 AD

(D) None of the above

Who granted Diwani to the East
India Company?

(A) Alivardi Khan

(B) Shah Alam II

(C) Najm-ud-daulah

(D) None of them

The real originator of the Permanent
Settlement was

(A) Alexander Dow

(B) Cornwallis

(C) Philip Francis

(D) None of them

20

100. I FACR o 2 ?
(A) 1762 {2zt
(B) 1763 o=
(C) 1764 o=

(D) TR @R W

101.
FCAREA ?

(A) =feRM U=
(B) fa®m *rz =tew
(C) Tifem-Tw-ce

(D) 477 (IO 7

102. foag® IvwRCER age Tere fRwem
(A) TERFEER U8
(B) F=faarfer
(C) fferet zrrfey

(D) TR FT T
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100.

101.

102.
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When did the Battle of Buxar take
place?

(A) 1762 AD

(B) 1763 AD

(C) 1764 AD

(D) None of the above

Who granted Diwani to t.he East
India Company?

(A) Alivardi Khan

(B) Shah Alam II

(C) Najm-ud-daulah

(D) None of them

The real originator of the Permanent
Settlement was

(A) Alexander Dow

(B) Cornwallis

(C) Philip Francis

(D) None of them

20

100.

101.

102.

FY IR o 2R ?
(A) 1762 R%1cH
(B) 1763 %=
(C) 1764 %3

(D) SRR TR T

@W%ﬂ@mﬂﬁwmwﬁm
PR 2

(A) S 2=
(B) FaSm *m= =wEm
(C) =fem-Tw-cen

(D) €T (I 7

fore® IevRcEa o TeRe fRwem
(A) CEREER TS

(B) e

(©) fferet apifepy

(D) <7 (FTR 7




103.

104.

105.

106.

In the year 1817 AD, Rammohan
established Hindu College with the
help of

(A) William Carey
(B) Marshman
(C) David Hare

(D) None of the above

Vidyasagar established
(A) 32 girls’ school
(B) 33 girls’ school
(C) 35 girls’ school

(D) None of the above

Young Bengal are the followers of
(A) Rammohan

(B) Vidyasagar

(C) Derozio

(D) None of the above

Swami Vivekananda established
Ramakrishna Mission in the year

(A) 1895 AD
(B) 1896 AD

(C) 1897 AD

(D) None of the above

103. 1817 R%w Imczn By wcew offew
FCARCEA

(A) TIEE @A TR
(B) IUICR =
(C) cofST (=R N

(D) Torza R W

104. RwpisR oifed aeafcam

10S.

106. I

(A) 32f5 aferm R
(B) 33 fere Rmem
(©) 35 ferm Rwem

(D) TR @FLE T

T T A

(A) AR S
(B) Reprercas SEe
(C) Fraferen swand

(D) Torzm %2 W

g™ awgm fm ofwn
FCARCAA

(A) 1895 foICH
(B) 1896 %1
(C) 1897 R¥%rH
(D) ToCaR (IR T
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107.

108.

109.

110.
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When was the Partition of Bengal
annulled?

(A) 1911 AD
(B) 1912 AD
(C) 1913 AD

(D) None of the above

The leader of the religious and social
reform movements of the Muslims
of India was

(A) Abdul Rasul

(B) Sayid Ahmed Khan

(C) Abdul Halim Gaznavi

(D) None of them

Which of the following movements
was withdrawn due to the Chauri-
chaura incident?

(A) Non-Cooperation Movement

(B) Civil Disobedience Movement
(C) Quit India Movement

(D) None of the above

The direct cause of the First World
War was

(A) Colonial rivalry
(B) Sarajevo murder case
(C) Militant nationalism

(D) None of the above

107. 3 TFOH I AR ?

108.

109.

110.

(A) 1911 %=
(B) 1912 2%
(C) 1913 %=

(D) Tocza @R T

SRS PN SIS ¢ GIFR HTHAGR
Tl fegem

(A) ST T
(B) O SR U
(C) gl Zfer sreerel

(D) o @R

T ASTRS TR ?

(A) SRS SCwTE
(B) % S ST
(C) SIS RIS HICwE]

(D) Toa bR W

2w e oers IR fem
(8) Seifcafe eifeafael
(B) CRITECS TSI

(C) w5 SSOR™

(D) Toza @MW




PART—IV / SI—IV

GEOGRAPHY / goiiel
fiifier « M3 e e w8 Tosw ermafim

Directions : Answer the following questions
by selecting the correct option.

111.

112.

113.

The linear distance between two
meridians on the equator is

(A) 110 km

(B) 111 km

(C) 115 km

(D) None of the above

The date having equal length of
day and night is called

(A) equinox

(B) summer solstice

(C) perihelion

(D) None of the above

Ocean floors are made of this kind
of rock

(A) Basalt

(B) Granite

(C) Limestone

(D) None of the above

Ty ws |

111.

112.

113.

IR o o wReEsE R
&R /e 2

(A) 110 ¥R

(B) 111 B[

(©) 115 [

(D) TR (PR W

@ =R e @ afem o M =, e
Ll

(a) Rw
(B) IO
(C) PR

(D) oz @2

e G2 2AFE B am el
(A) TP
(B) MG
(C) Fes

(D) Tz @R T



114.

115.

116.
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The Himalayan Mountain system
originated during this geological
period

(A) Archaean

(B) Mesozoic

(C) Tertiary

(D) None of the above

Mesa and Butte are found in

(A) lava plateau

(B) intermontane plateau

(C) dissected plateau

(D) None of the above

The first stage of denudation
process is

(A) erosion

(B) weathering

(C) transportation

(D) None of the above

24

114, RaEm “RHoqE @2 goun o 3R

(A) ==
(B) CEIRS
(©) oiffR

(D) TR @R T

115. o1 ¢ RS (e “new 3|
(A) =S FETECe
(B) */erafee Fergfice
(C) Ifoew ARTEMACS

(D) Toicaa (PibR 7

116. 7ATS 2ifew™ 42w R 22
(A) =S
(B) SIRRRFE
(©) «iffa=za

(D) TR @i T




118-

119,

120.

. The origin of this type of lake is

related to river meanders
(A) Oxbow lake

(B) Paternoster lake

(C) Lagoon

(D) None of the above

The longitudinal dunes are known
as

(A) Barkhan
(B) Seif
(C) Yardang

(D) None of the above

This is a type of depositional feature
by sea waves

(A) Blowhole
(B) CLff
(C) Tombolo

(D) None of the above

Its work predominates in limestone
region

(A) Groundwater
(B) Glacier
(C) Wind

(D) None of the above

118,

119.

120.

.d;mm%wﬁﬂaﬁmm

(A) TS ZW
(B) *IORFOR 2%
(C) &

(D) ToIRR @R T

S Aferfe @ e «fRfe, o =
(A) A

B) e

(C) RS

(D) TR @R T
23] Y IR AFTIL T jE a3

(A) @=

(B) ¥3
(C) BrIran
(D) TR @=iE W

PR G G IS A1 s
=

(A) coEE
(B) BwRr=

(C) Iy
(D) TorRR R T

[ P.T.O.




121.

122.

123.

124.

/5

Stratopause is located between
(A) troposphere and stratosphere
(B) stratosphere and mesosphere
(C) mesosphere and ionosphere

(D) None of the above

This is an inert gas
(A) Oxygen

(B) Methane

(C) Xenon

(D) None of the above

Relative humidity is measured by
(A) hygrometer

(B) anemometer

(C) barometer

(D) None of the above

A line joining the places having the
same atmospheric pressure is called

(A) isotherm
(B) isohyet
(C) isobar

(D) None of the above

121.

122,

123.

124,

SHIIPP] GT7a TR B SREe
(A) TeenPear e sehies
(B) SWHIFFIR ¢ onPeam
(C) PPN @ SRR

(D) otz @FMbE T

aft @b A o
(A) =TS

(B) feam

(C) &=

(D) Tocam FFE W

weefre Sl qefl =W
(A) ZEeefoR w@
(B) =mfacfRoR ==
(C) ATARDE ==

(D) Toeaa e &

@ @9 WA W Ape-REE TR
& T, I3 1

(A) STCIRECAS!
(B) STz
(C) STBIoCAdl

(D) Torm FWbE T




125.

126.

128.

Leeward slope of mountain is called
(A) rainy area

(B) rain-shadow area

(C) cloudy area

(D) None of the above

North Indian Ocean currents are
influenced by

(A) trade winds
(B) westerly winds
(C) monsoon winds

(D) None of the above

. The cold Canaries current flows

along the coast of this continent
(A) Africa

(B) South America

(C) Asia .

(D) None of the above

The plane of contact between cold
current and warm current in the
ocean is called

(A) snowline

(B) Sargasso Sea

(C) cold wall

(D) None of the above

125.

126.

127.

128.

FRCS] SATS BRI 3
(A) ez s
(B) 3fwm W=
(C) Y= Hww

(D) Toaa @FDE T

TG SIS TP ISR eI 20
(A) SR A AR

(B) =i Ay =

(C) TR T =

(D) ToIEA @R T

Mot T el @ TR o
A MRS =

(A) wniF

(B) W SR
(C) @

(D) Cotzm @i

TSR Mee e ¢ T @ WYRe)
AN EHATE A

() R

(B) TR IR

(C) fmaftE

(D) TofcaR (@b W
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129.

130.

131.

132.
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When the distance between the
earth and the moon becomes
minimum of all, then that position
of the moon is called

(A) perigee

(B) apogee

(C) equinox

(D) None of the above

If in a place primary tide occurs at
9:30 a.m., that place will experience
secondary tide at

(A) 9:30 p.m.

(B) 9:46 p.m.

(C) 9:56 p.m.

(D) None of the above

It is responsible for acid rain

(A) SO,

(B) CO,

© 0,

(D) None of the above

Dams are constructed on the rivers
to control

(A) landslide

(B) flood

(C) cyclone

(D) None of the above
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129,

130.

131.

132.

T4 AR 8 STER WP Y KW FW
T OH T IR SR

() ¢

(B) e

€ Ry

(D) Tofcad (@ivE

@W e @ 9:30 RS 10 @R
A, @ T (N (SRR ZA

(A) Ff& 9:30 ffAG
(B) Afd 9:46 fifach
(C) af& 9:56 fafch

(D) TFR P2 T

27 wife 3fa wn W
(A) SO,

(B) CO,

() Oz

(D) TER FME W

e iy Frfieem S ==
(A) g fags 3=

(B) I forwger @1

(C) @™ e T
(D) TR IR W
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133. It is the largest oilfield in India 133. 3T SRS 2SN (GRS

(A) Digboi @) fosrm

(B) Ankleshwar (B) ST¥CTER

(C) Bombay High (C) I|TI 2R

(D) None of the above (D) ®ogam @R W

P fc;::ntgis Inghaf;m\:: o P | 13, o ene egpfes smest fcec =R

A) 77% W) T

B) 87% (B) 87%

(C) 97% (C) 97%

(D) None of the above (D) Toraa FWibE W

135. The largest sawmill of Asia is | | oo ofmm qeen warese s

located in
(A) Andaman (A) IR

(B) Bihar (B) R=a

(C) Jharkhand (C) TS

(D) None of the above (D) ToaR @ T8

136. In this type of farming, banana is | 36 % srm FTs T Seolfie =

produced
(A) FfRe SRerreffes 3R

(A) intensive subsistence farming

(B) extensive commercial farming (B) e AT FR
(C) plantation farming (C) fomr PR
(D) None of the above (D) ocER @b T
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137.

138.

139.

140.

/5

The best iron and steel centre of
Japan is located in this industrial
region

(A) Tokyo—Yokohama
(B) Kobe-Osaka
(C) Hokkaido

(D) None of the above

Polymerization process is related to
(A) aluminium industry

(B) paper industry

(C) sugar industry

(D) None of the above

This is an example of footloose
industry

(A) Cotton-textile industry
(B) Iron and steel industry
(C) Sugar industry

(D) None of the above

The Tapi River of India is flowing
towards

(A) north
(B) south
(C) east

(D) None of the above

137. FOR P @2 S THE FEh @2

138.

139.

140.

Rrsneecs wafEe

(A) COfFeZzarIR
(B) (IS

(© @%’QC@I

(D) TR FEHE W

sferarazreem  ofeF @ Prem e
Soifde

(A) SreffafrEm e
(B) F151% P
() B fm

(D) Toaa FAbE T

%%] @b footloose PTsR Twrze
(A) ez s

(B) 2 & T=e fm

(C) Pf frm

(D) Toaa @oE 7

SRS T i 2AIES TR

A) Te3 fice
(B) s fize
() °H ficz

(D) Tozm @EbE




141. This part of Asia is known as its

‘heartland’

(A) Southern part

(B) Central part

(C) Southeastern part

(D) None of the above

142. This plateau is located between

143.

Altintag and Kunlun mountain
range

(A) Tibetan plateau

(B) Ladakh plateau

(C) Saidam plateau

(D) None of the above

Water of this lake contains highest
tinify

(A) Caspian Sea

(B) Aral Sea

(C) Van Lake

(D) None of the above

141. GPER 9 9% ‘heartland’ AN RS

142.

143.

(A) W Sl
(B) T4 19
(C) wiEpal-= =191

(D) TR (@R T

@2 YETPRL ST
oA TR W w1fEe

h

(&) fowmeen TEpl
(B) =Y Trergfy
(C) T WETe

(D) ®ocm (FWE |

9% 0 T FCPH RS
(A) FPeRE TR

(B) IR oA

(C) = 2%

(D) ToiEaa @bE W
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144.

145.

146.
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This climatic region of Asia is
famous for horticulture

(A) Mediterranean region

(B) Manchurian region

(C) Taiga region

(D) None of the above

Steppe grassland is used as the
grazing ground of

(A) cow

(B) sheep

(C) goat

(D) None of the above

The shortest river of Tripura is

(A) Manu

(B) Khowai

(C) Feny

(D) None of the above
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144. GFRIR @ GO SwWH FA BCI G
e

(A) SRR See
(B) WM S
(C) CTooN HueE

(D) Toaa (FMTE

145. @ TIER @3 RTEY BNR I9Te =
()
(B) ¥
(C) =&

(D) Tocsm @miv

146. fao@m Faey M =
(A) ¥
®) cmr
(©) @

(D) ®otaR @FbE




147. The second highest hill range of
Tripura is

(A) Jampui
(B) Shakhantang
(C) Longtarai

(D) None of the above

148. The nature of soils of Tripura is
(A) acidic

(B) alkaline

(C) neutral

(D) None of the above

149. It is known as the ‘Manchester of

China’

(A) Sanghai
(B) Hunan
(C) Beijing

(D) None of the above

150.

This Naitonal Highway joins
Sabroom and Churaibari through
Agartala.

(A) 108A

(B) 208A

(C) 8

(D) None of the above
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147. TR Rl Swen et ==

(A) TR
(B) *M4MoR
(C) =LAk

(D) SR AR T

148. T e yfeer opfe =

150.

(A) =
(B) R
(C) F=eers

(D) TR @M W

% TR TSI AeReHAR T W =Py
8 PO & AR |

(A) 108A
(B) 208A.

©) 8

(D) Sozm @i
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SEAL

1-

7’

10.

11.

12.

13.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

Fraferire Frofid s #e g :

T b-q TR A T @R FEIA FRea- @ Figh OMR Tewerm W cred e @me i ofrw =

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

=#fefb 2iraR Toa oA o vl Rew crem wIe @1 (W3 Wy % Teafty caf¥te OMR TeReg crew 38l I TS
FoW AR P I IR iEe TS T3 | 99w Yoq fifke 39 = e one wm HReds Fm A A

The candidates should ensure that the OMR Answer Sheet is not folded. Do not make any stray marks on
the OMR Answer Sheet. Do not write your Roll No. anywhere else except at the specified space on the
OMR Answer Sheet.

PP (FRESIIE OMR Faa-1afl S1% 303 1 | OMR TERCH (FHEIFY W51 F61 I I8 (311 A3 1 | *Rrwiia1 S0
@m 758 OMR Tageia R 331 wRs Qe W0 (W SR P = |

Handle the Question Booklet and the OMR Answer Sheet with utmost care, as under no circumstances
(except technical defect), another set will be provided.

OMR T&a°1@ @32 218~ AR e FeFT TIog FACS A | (PG FIWLR (F T ¢ *mafeere Fd WEr) OMR
TaRerg @ oo CRENI LI AN |

The candidates will write the correct Question Booklet Number and the OMR Answer Sheet Number in
the Attendance Sheet. ;

RPN HHCSH b-4 $F OMR TSHTaR 797 9 2-%em 93 Rgerena free =31

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

RIS STEFD I1E G372 FTH VAT F1E TF1 1 (@IS QAL A (31 I, *15 'S JHOTSTS NG, (IR, (RIZe &,
W (PRERFN A e i R 20/ ot FRee orem I AN

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

1] 27 TAfSTEabn ¢ e = (e foer *Arm-nfiE witeRe ¢ Rk 331 %71 crore *Arwd $F Srefit 376 ¢
FLO! WETTADL FIE (TS 4 YT |

No candidate, without special permission of the Centre Superintendent or Invigilator, should leave his/her
seat.

CToR FoRGTTes 1 TAfefetg-aa Rom Sl wer «Rwd «fw w5 S) PR 7 fReds Fws w1

Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

APFIRICS TASETDAR OrST HLHCEH NG IR T IS L, AR A1 2051 S AP 9209 °F 432 Rl
Ffeferebas e OMR 53 &3 (FSUR FCH |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and signed the Attendance Sheet twice. Cases where a candidate has not signed
the Attendance Sheet a second time will be deemed not to have handed over the OMR Answer Sheet and
dealt with as an unfair means case.

19 FACS A A1 1 A (@G W DS o- [RIR T 71 I 93 fof S OMR S@aora w1 FAA 307 5190 23
R O Sfoe IR AR &1 A |

Use of any type of calculating device is prohibited.

(A-(FS GR FFFEAOCAR I3 =pefancet Ffe |

The candidates are governed by all rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

*{3r1 23 /F0we g Rl s @t i ¢ Rofe sl sife w7 15/ @em st 3 @ed fam s fofa
e e =23 |

No part of the Question Booklet and the OMR Answer Sheet shall be detached under any circumstances.
@S SR 27%-*ffFF 9] OMR TEIIR (FAE T (RST I SHM F1 I3 1 |

On completion of the test the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away this Question Booklet with them.

1] C18 2ETA A *AFq W12 SF OMR TI91a FEIIC TASAACCIN FICR &1 (T3 | *Awqran % op <l Soeq

e e @Te «Em |
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